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GENERAL STUDIES AND GENERAL ABILITIES

Who is the author of the Book 'Kotha Vantena' ?
{1} Allam Narayana ] )
(2} Sunkireddi Narayana Reddy

{3) K. Srinivas

(4] Sangisetty Srinivas
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Who among the following published the
Nilagiri Patrikz from Nalgonda during the
Nizam period ?

(1) Suravaram Pratapa Reddy

{2) Shabnavees Venkata Rama Narsimha Rao
{3) Mandumula Narsinga Rao

(4) Madapati Hanumantha Rao
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Who was the Telangana writer to publish a
thesis on 'Prabhanda Vangmaya Vikasam'?

(1) Kaloji Narayana Rao

(2) Bhoya Darmaiah

(3) Palla Durgaiah

(4) Samala Sadasiva
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In which year the historical ‘Golkonda Kavula

Sanchika' was published by Suravaram Pratapa
Reddy ?

LEsdo el 3§ 85 ToE g "Ry ol
$PU VONE" W I VobE B0E* [dboTD ?
(1) 1910 (2) 1925

{3) 1930 (4) 1934.

5.

The first e-court in the
inaugurated in the High Court of

(1) Andhra Pradesh and Telangana

(2) Tamil Nadu

{2) Karnataka

{4) Gujarat
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In which place of Telangana, Central
Gavernment allotted funds to establish Metal
(Copper) Cluster ?

{1) Rangapur {2} Bidri

{3) Pembarthi (4) Nirmal
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Who is the author of the book 'Half Lion'
releasad on the life of the former Prime
Minister P.V. Narasimha Rao ?

(1) Jairam Ramesh {2) Vinay Sithapathi
{3) ™anmochan Singh (4) Aravind Adiga
rd Lord DI HENeDE oy £ddod adbe
AOETH " LS P¥ Sond Jolh ?
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'Uppudu Pindi' - a Telangana traditional dish is
similar form of

(1) Upma Itz] Utappa

(3) Pongal {4) Kudumulu
8vorrn Jrofardd Dobfo “alpd od”
da &0 dotnod 7
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3. 2akinaiu |/ Chakinalu® is a deep fried snack
made of rice flour and
{1} Sesame seeds (2) Mustard seeds
{3) Fenugreekseeds (4} Ragiseeds
8eormese’® EREDS Dod Dobsgt 2585
DITewrtaw” i8S’ Datgdy boas
ey & 8od odd” AN LA NG ?
:'m@sm (2) waren
(3} Doibeo (4) oribew
10. Sri Chandala Keshavadasu's 140™ Birth
Anniversary was celebrated in Telangana state
recently. He was
(1} the first performer of Perini
Shivatandavam.
(2) the first Telugu film actor from Telangana.
(3) the first lyricist in Telugu films.
(4) the first short story writer from felanga-na.
& DPgsreodt Buormrs ebsgo Soare
S4hain 1405 a8 adyHod. eabd
(1) Soodudd Lod TDe~ 08 D)Sgs b,
(2) Bwormre od . &DEE:JCS&! el
Eyrsrthda
(3), WS Beord T fab SSond.
(4) Svorm Toddndd wiw Zgr Suavd.
11. Bezawada Wilson was given the Raman
Magsaysay award in recognition of his work in
the area of
{1} Eradication of child labour
(2) Elimination of Manual Scavenging
(3} Rescuing the trafficked women
(4) Environmental Protection
Bward Juye O oS W v & 8ob
Sotfod® T 508 eodod.
(1) Gl H ﬁsﬁ'gﬂd:‘ae-‘.b.
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The Global Gender Gap Report 2015 ranks
India highly in terms of

(1) Work participation

{2) Political participation

(3) Accessto health

{4} Access to education

“B'ud Bodb g 85 - 2015, erS8deDa
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The Child Labour (Prohibition and Regulation)
Act was amended in 2016 to abolish child
labour in all occupations and processes except
in *

(1) where the child helps his family or family

enterprises  other than  hazardous
occupations or processes.

(2} construction industry.

{3) domestic work.

(4) brick kiln industry.
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The Chairman of the 21" Liw Commission of
India is

{1} lustice B.S. Chowhan

{2) Justice A.P. Shah

(3) Justice D.K. Jain

{4) Justice Madan B. Lokur
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Opportunities, Protection of Rights and Full

Participation)  Act, 1995 provides 3%

reservation for disabled persons in

(1) all posts and services under the
Government of India

(2) postsidentified as suitable

{3) lower level and entry level jobs only

(4} ‘desk jobs only

DEurotbe (D oDstares, a'rvéya_c.l plale] {0

Doch Dord ridrgingo) Sko 1995, =08

& 808 Boliod* 3% DTS E0joN0d.
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(4) a5 ﬁ&‘sn'l:.s:‘?‘ arEd '
The first Indian woman player who belongs to
Telangana to receive the prestigious Arjuna
award for Volleyball is
(1) M. Sujatha Reddy (2) U. Madhavi Reddy
{3} G.Mulini Reddy {4) JareenaBegum
8uomre® Dowood Dédmdbm oderd
188S° D8I E)E vdh v oD hirv
|Sers-0el
(1) o oS 0G (2)r abv SrED B
(3) = WweJTE (4) w=bc Tifo

The Telangana Irrigation Department signed a

Memorandum of Understanding with the

indian Space Research Organisation (ISRO)

over sharing of satellite data related to

(1) finding out accurate location of irrigation
Tanks of Kakatiya period.

{2) gauge the water levels of projects on
Krishna river.

{3) identify water bodies in Telangana.

{4) access the accurate reserves:of water in
Tanks and Reservoirs.,

Buome 8 >oSe T, P88 ©os8d%

Lo E woy (ISRO)E* Tty edMire

ednodo dI8 Lonobolnh ?

(1) s*$8ahe srwod® D¢ IHHe DhHTE D
pySomr SLffddo.

(2) &3 Bd 086 FEHuS D
DesHedn BeslnESHhaRE

A3) Bromrme® ¢ HdTrum HhotarIs.

(4) Bbyes Woa BbuoeabdS' &)
ROEBD I Jesdeds hPoisamDs.

19.

20.

was launched by the Chief Minister of
Telangana state in the village of

{1) Chilukuru, Rangareddy district
(2) Gundrampalli, Nalgonda district
{3) Errapalli, Medak district
(4) Polepalli, Mahbubnagar district _
rodSto ahE) Codd diw 8vorrm
Swpgo|d i J (Mho od |dofoard ?
(1) Deokrd, Sormdd 2™

/{2‘)" tho|arodd, é"od 2o
(3) JBJD, DSE 2
(4} ﬂ‘é"’u@ wirerred o6 2¢0

Ozone layer protects earth from ultraviolet
rays. Which of the following harms the ozone
layer ?

{1) Burning of wood for cocking
(2) ('IJ1 used in soda water bottle

{3} Urea used as fertiliser

{4) Chloro Flugro . Carbon used in  Air-
Conditioners

4,85 ¢ wdde Srd S8oroudy radd
oo Sardhdod. &1 S08 a8t D8 LES
85 ¢ EDA0G ?

(1) ot hotd® £Bud sredo
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National Disaster Response Force (NDRF) works
under which ministry in the Central
Government ?

(1) Finance Ministry

{2} Home Ministry

(3) Defence Ministry

(4) Environmental Ministry

HpS a>ps 88y %6y (NDRF) BoE .
@xﬁi}ésoé‘ o 20| Bée T wfdod® L) Jipod ?
(1) ugé DoBds Ty

'_,r{’II" Eo o|Bde
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enhanced disaster risks; one of the ways to

counter this is

(1) Reduce development criented activities

{2} Mainstreaming Disaster Risk Reduction
Strategies

(3) Use traditional practices in agriculture
and industry

{(4) Generate a campaign that development is
important in spite of disaster risks

odD)8 ségSare Ik Wy Srdo

d3pabd srad) HEYSoib el B5B

(1) uﬁ)ﬁ.‘:;es*és srigSare Shoddo.

}2} ey é[.f.xo' éhoy ﬁdgoﬁn [[¥ A
(2088 addisdo.

(3) Jgadrah, FBFDE Sorred® Irofxrad
%é}uﬁn aidd-Roddo.

(4) FH wdy aHinwd edsE o8
e [Dardo Sddo.

Unlike earthguakes which are sudden, drought

hazard is slow to occur. One of the mitigation

strategies to deal with this hazard is

{1} long range plan for water conservation
using new technologies.

(2) move people away from drought prone
areas.

{(3) provide wage earning capacity to people
dependent on agriculture,

{4) supply water through trains and trucks.
Priodunt Srdvdm stHoar, §8%) S

i) gRrtio. 83 Xodin oo 2.8 83

A BY50 erE argon widE odBss
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The cause of the Bhopal disaster that affected
5 lakhs of people in December 1984 is caused
by:

(1) Earthquake {2) Floods

(3) Industrial accident (4) Tsunami

Ghowb 19845° ird 5 oo Wwold B
50006 S IS 580
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Series-AB

25.

26.

e

%

e g o ALY PO e et ooy B, oy

member(s) of the Nuclear Supplier Group ?

a. China b, India c. Iran
d. Pakistan e. lsrael

(1) a,b,candd {2) a,cdande
(3) aonly (8) candeonly

808 VEYR) dwed® J Frds/dvud ew
[0n o Lrdin (Rrg8abd TDabE |HrDyes*
wefgdeo a0 ?
a. B b. modah . aoce
d. JE>S e. aproand

A a,b,cBavd  (2) 3¢ dbabe
(3) adrmEd (4) chbahedm$D
Under the Indus Water Treaty (IWT) India had
been given the exclusive rights over the rivers of
a, Chenab b. Ravi c. Beas
d. Indus e. Sutlej f. thelum
Choose the correct answer from the codes
given below :
{1) a,bandconly (2) a canddonly
{3) b,candeonly {4) & bandfonly
Dodr 58 =ove einodio (IWT) (Ds~8o
PESITIE & 208 BDUB P8 e

‘H\'J‘)E\‘E'l.."i).
2. vad b. oo® c. Datrd
d. o e. 3L f. deo

& 8o B8 o @O G0 BEras JoHE R,
(1) a,b$Ba ¢ &mED (2) a, c bak d tmsd
(3) b, cbab e dmED ’(,4} a, b Bat f 3D

Consider the following statements about NPT

& CTBT :

a. India has neither signed NPT and CTBT
nor ratified them.

b. India has signed NPT but not CTBT and
ratified none.

Which statement/s given above is/are correct ?

(1) aonly (2) bonly

(3) botha&hb {4) neitheranorb
ASDE, LEHSLSH DomoBod & Bod
woTre Koo, v op

a. rddddo J50G, V8D 8o Dodso
DabTh, uDrBodhr Teb.

b. erdddio ASLE D Dodfo Jvod &R
0808 o TS Lbak Tododtd

LS

udrBoSS.
TS aigadd voredt W:}} ?
(1) admgd (2) boEd .
(3) a,bBodr 4) asdb s
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Kaladan Multi-mModel Transport Transit Froject
by India and Myanmar consists of which of the
following modes of transport 7

a. Roads
b. Railways
¢. Shipping

d. Inland Water Transport

Select the correct answer using the codes
given helow :

{1} a, bandconly (2) a,canddonly '
{3) b,canddonly (4) a,b,cd

88 Dbd Sabams wodby "srucre Y
FES |G (oS | >BE O° & 8od

SRS D Saver Fr¥orgen dayan ?
a. 8%

b 9E

c. &seabrho

e wosES O S

& 80b ¢ argor UTS 2orwd JohEwa |
(1) a b, cardd (2) acd&rEd
{?}p b,c, dar@dh - (4) abcd

Which country is the Chairman of the BRICS
group of nations during the year 2016 ?

(1) India (2) China
(3) South Africa {4} Brazil
LEIEJ {BRICS) dare,  UharDE 20168
LobEYTdS elfgdd birod 40
(1) erdsdHo 2 3o
(4) [Bad

(3) &ipups
/!

What was the theme of the Olympics 2016
which were held in Rio De Janerio, Brazil ?

(1) Unity and Enlightenment

{2) Equality and Equity

{3) Social Justice

{4) Peace and Environment

0166 [Pede’d 8@ & B =ond
2ol (Sdo B Ja ?

(¥ o¥gd Ldab derrdo

(2) wErHdgo wdab arad

(3) &re sgabo

(4) wod Dbah Dorghdno

31.

32.

9

UN IMUECRENUENLE Udy, UL LT [iidil FIaniie
Minister Narendra Modi promised to build
museums dedicated to which of the following ?

{1} Mughals

~ (2) Rajputs

(3) Tribal freedom fighters
{4} Indian National Army

20166° =8h% Iqdody OS'Eydod® wdo@
3rd & 808 =°0&° 0B grusdo furgzabo
D800 0SSR o IXd?

(1) Swiveses

(2) o=y e

{3) nd=d Argdo|dg adrghes
20&abS Fivd uby

Pravara is one of the tributaries of

{2) Krishna River
{3) Cauvery River {4) Sthapathi River
[HH8 whd & Sob R ably Gund

(1) Aosd 2) &>

(3), s~=0 (4) pod

{1) Godavari River

The Union Minister Ms. Maneka Gandhi
launched an online complaint management
system called 'POCSO e-box' recently. It is an
easy and direct reporting system against the
offence of

{1) Abusing the Pets .

{2) Abusing the Environment

(3} Sexual offence against children

{4) Sexual offence under the Nirbhaya Act
doi8 fwo® Sbs maod Do W ndlhe
'POCSO & - 2By o3 uSES Yogd Dgsy
|2 Soodmdod. 83 o 808 Bored IS
F0 T Dok ([Déglon Jogd
Dabbhy.

(1) Doipth oo grdosdo

(2) DogaBeor grBodio

Mw&u&@ Joh¥ Joves

(4) DEyab Sgo S Tons Fome
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e WD LA0IneL nas given 1S approval tor
introduction of the Surrogacy {Regulation) Bill,
2016 to ban commercial surrogacy in the
country. Censider the following statements
regarding the Bill. Which of the following
statement(s) is/are correct ?

a. It prohibits the surrogacy services in the
country.

b. It bans un-ethical commercial surrogacy,
and also sale and purchase of human
embryo and gametes.

€. It allows ethical surrogacy (i.e. altruistic
surrogacy) to needy infertile couples on
fulfilment of certain conditions.

d. It bans foreigners, homosexual couples,
people in live-in relationships and single

individuals to have babies through
SUrrogacy.
Codes:
(1} Onlya {(2) Onlyb
(3) Onlyc (4) Bothcandd
a'gﬁ'méagom fige aBg‘bSG'Z}l

A BodEDE & &g Sod ‘.EBDLE:.‘:.QZ W6
~abojder Des-20165 esIF3rSo 80008, & Do
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a 28 wd JHos® YLD Diaon.
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SRS W08,
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ey éﬁ.‘-mz)l Dadinod.
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¢ LB d
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34.  Ground water utilisation is the highest in the
state of
(1)  Gujarat (2) Punjab
(3) Jammu and Kashmir(4) Maharashtra
s;'n‘r‘iﬁgau ©85)8 Q-cm wdswn o oo
(1) Haoé - {2) Do S
(3) =dmasns (4) Dftoly |
Series-AB

37.

38.

Which one of the following games was newly
NOT introduced at the Rio Olympics 2016 ?

{1} Water Polo (2) Kite surfing

(3} Sevens Rugby (4) Golf

2016 Bad* 2woEy € drdhonr PSFugudd
wd D8 ?

(1) &b I*

{3?‘//_:"\1*-':‘53 dﬁa

(2) Eﬁ“&&aoﬁ
() mS)

The pass located at the southern end of the
Nilgiri Hills in South India is called

(1) the Palghatgap (2) the Bhorghat pass
(3) the Udaka gap (4) the Coorg pass
&8 88 506%D Hond Sode® S8 THES
Gy Shd 26 ?
(1) iy 3"3-5 ot
{3) &dE o

(2) Fordsah
(4) &5 Lol

The Brahmaputra is a trans-boundary river in
Asia that cuts through the following countries :

(1) Nepal, Bhutan, India and China

(2) Tibet, China, Bhutan and India

(3) China, India, Bhutan and Bangladesh

{4} Tibet, China, India and Bangladesh

ol podod’ Wind ¥6 IS drest
(S2rioed. o dares 22 ?

(1) J>E, etrérs, 0886 L0k S

(2), 898 Bav, ghrerS LBk 56

(3) Bar, 2088, drérS WO worrds

e

AHT 888 3er, 988 bah wormrds

India has only three working gold mines. One
among them is

(1) Hirabuddin, Jharkhand

(2) Kolar, Karnataka

{3) Singra, West Bengal

(4) Sangli, Maharashtra

rE8d%es® [Drdo Lrrd worrd Hives LD

&__m'lm T d8S® .5

(1) bu‘wg;). 3‘205
,RT/ &5, sgrdE

(3) Sopr, 23y Do

(4) arof, w*oT
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mountamn peak or >outn vwest india ¢
(1) Kalsubai peak, Maharashtra

(2) Sonsogor peak, Goa

{3) Doddabetta peak, Tamil Nadu
{4) Anaimudipeak, Kerala

538 388 |rodod” o) wdgod J_gé Do
Fwdo I8 ?

(1) Seoyerow RApdo, WIoT

(2) 2&yHE Apdo, A'a

(3) EdBd Bwdo, Sopefarils

(4) wZws Fpdo, T8¢

The Himalayas cross five countries :
(1) Bhutan, India, Nepal, China and Pakistan

(2) Bhutan, India, Afghanistan, China and
Pakistan

{3) Bhutan, India, Nepal, Indonesia and
Pakistan -

(4) Australia, India, Nepal, China and Pakistan
Shreah Dfieres & 808 o Dapes®
.':-5:.\0-3 ATy,

jf”z;ﬁ-es-s. a0&0fe, Frd, S Wwdab
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FETS
(2) Prers, modalr, wAPS, Dov wod
FEIS o
(3) sirerS, @odafr, I aof Il
Doch FEJS
(4) winOair, moddlr, J& I WO
Ay
Karakoram (the Black Mountains) a complex of
mountain range is a part of
(1) Himalayas
{2) Vindhya and Satpura Range
(3) Nilgiris
{4) Range between India and Pakistan .
o880 (hus Digeres) & 8od oS rifo
{1} rarodies
A Doty Wb o DigE (e
43 Defdea
(4) 86 Lbak ES Dagg ([Fees

45.

gLl fralil o TCopWlialtic 1Al R TR AT
type of climate in India ?

I. Location

fi.  Thermal contrast

l.  Upper air circulation

IV. Inter-tropical convergence zone
r88d%0S* cadllh TebdordE s~orw

e ?
I E."JE:"io
I agffer Porw
. ey srab @ivdmo
V. wods - &) |Fosre Lo
Codes/5*tes :
(1) 1onlyfar g
(2) 1,1l only/tmS
_{3¥71, 1 & IV only/ a8
@ L, &

The india's highest annual rainfall is reported
recently at !

(1) Namchi, Sikkim

{2) Mawsynram, Meghalaya

(3) Chamba, Himachal Pradesh

{4) Cherrapunjee, West Bengal

6ty PrE8Tiod” wdgdE orRE DEardo

¥ & Rrth wongod ?

(1) ariny, N80

(2) Eriaro, iredd

(3) Soer, Srbrdd D85
Py Do, D335 Borrd

Jim Corbett WNational Park, located in
Uttarakhand is related to

(1) Medicinal plants ({2) Birds

(3) wildlife {(4) Butterflies
adowoss™D 25 5735 =r8db aorgnito

Bn& Lowodo 5OA 4od ?
—1) T pHew (2) DHeo
(3) Sig |Frees (8) bHenE'E Deoden

Sargasso sea lies in

(1) North Atlantic {2) South Atlantic
{3) North Pacific (4) South Pacific
gt :‘.:‘é:q@ﬁo o DSFRwEo

(1} 88 wirods (2) &fm wiross
(3) addIDE (4) &8 DRSS
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opening shot shows the book titled - "My

Father Balaiah". In what way the book is

related to Telangana ?

(1) It highlights the plight of Telangana
migrant workers in Dubai.

(2) 1t depicts the struggle for Telangana.

(3) It depicts the life of a Karimnagar Dalit

- family migrated to Hyderabad.

(4) 1t depicts the life of a Karimnagar Dalit
family migrated to Malaysia,

adbe DSTS orE wdb WL Kerd, o

W D PSS wrodbs’ o3 PSR

Sad  (dozf ‘.b:)lﬁ-‘ioﬁ‘ ool &

DS 8 Bromes' ) Jowodo I ?

(1782€* Bouors® Dowmoboth  Hed

/V SO Hee Durardt Kooty e
Joboddo 2:0f08.

i2) aﬁm&ﬁ&%ﬁdmmm

(3) B ¥ L6025 S08 Savowo
rEorerd Hud EDALST 208 g8h
SRhfouido s=8hab,

{4) ADS* o S805E 208 Heévowo
DEldrd Hed Si’aﬁa‘bﬁﬁ 208 Egh
wwboddo =0Rod.

47.  Sushanth Singh Rajputh played the character of

' the cricketer Mahendra Singh Dhoni in the

movie "M.5.0honi: The Untold Story". Wheo
directed this movie ?

{1} Anirudha Roy Chowdhury

{2) Gauri Shinde

{3) Neeraj Pandey

{(4) Tinu Suresh Desai
“do.R&h - & oSS 28" LUarSt (3366

waro Lof &2 Q'Lé;‘fu ..D-PDE voh olpé
U, G LI S e ?
(1) wdtS o°ab FE6 (2) A6 Lod

AEE vod (4) &% 0dQ Farab
48,7 Tamil Film Industry is known as Kollyweood and
Malayalam Film (Industry is known as
Mollywood. How is the Bengali Film Industry
popular as ?
{1) Bollywood (2) Tollywood
{3) Jollywood (4) Dhallywood
¢ e VBTG FEHE ud Lvdry

MR DBFRD IrDPE 8D Lo Borrd
M DOH O LB LResEns ?
(1) ebHE trdHE

@) e 95,/
Series-AB
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51.

52.

e T R L R e S,

(1) Penganga river - [2} Godavari river
(3) Pranahitariver '{4) Maneru river
S - B8 (rires O 08 880’ daman ?
(1) S Homrba (2) HAloebe sn

(3) (Froird s (4) WD %a

Which of the following Asian Countries is
declared as "Malaria Free' by WHO recently ?
{1} Srilanka (2) Pakistan

(3) Nepal (4) Bangladesh
@os w&ig VoY & 808 edaie da‘;)l
DEOA S d-‘-ﬁorr' adhe (DEdoDon ?

(1) Beos ~ (2) >8>S

(3) xS () worrds

In the 4G celi phones, LTE technology is used.
What does LTE indicate ?
(1) Long Term Evolution
(2) Lightening Technalogy Engineering
{3) Local Telecom Evolution
(4) Liberal Tuning Evolution
4G & PHSTLTE Fsmedd dO@APS. LTE
BT
A1) orof &5y Jberglas
(2) B8k Bsyed w0k
(3) <85S BOHso IDETTD
(4) Ou8S trgloh JFbearghaS

The Ministry of Science and Technology has
recently launched a new programme called
"SATYAM", Its main gbject is to

(1) eonduct lie detector tests in all the courts

in India.

(2) link ancient wisdom to modern
knowledge.,

(3) protect the intellectual property rights in
India.

(4) strengthen research in the areas of yoga
and meditation.

athhe T ~rosas Do@ée o “Pigo

{SATYAM)" wd &rdd s*8g Sy (Sohoed.

&2 Lwsg dé’igo andd 7

(1) srdsddos® o ;avsdiﬁ'awﬁ‘
DEgHEE DOKUD Dgdrovio.

(2) |Ds o) wghdE
wofodgo.

z)gvlboﬁ‘

(3) prdsddoc® %00 Iriy oo LBBosto.

{4) 4 aBrtf ooy orgroed  Dowofodh
/ 207 SRl wg*hido Jabgo. -

201
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54.

55.

56.

201
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The particle BUSUN 15 named arier Lwo
scientists. One of them is Einstein. The name of
the other Indian Scientist is

(1) Satyendranath Bose

{2} Lokendranath Bose

(3) Sarathchandra Bose

{(4) Jagadish Chandra Bose

agth Tindde Do 0L ogdmo TS
ey 508 (BOSON). 206° 2.8 S8, Sodd
ard8ab Tindd Db ?

(1) “Egodmrs 0 (2) &'Sodrh &%
(3) 458 SoSS°S (4} 20ib% So &0

several scientists of Indian origin are recipients
of Nobel Prize. Who among the following is not
a Nobel Prize winner ?

(1) Subramanyam Chandra Sekhar

(2) Har Gobind Khurana

{3) Srinivasa Ramanujan

{4) Venkata Raman Ramakrishnan -

2 88ah Vod38 Bobd L TR wirad
[irdeomm. & 8o8 0&' b FBS
wiribd (i d 57 ?

(1)
(2)
(3)
(4)

".\.nl‘_aﬁ’.a"lmgo ﬂ'de'iaJE -
PSR DS wove
L-'?Da";.i O RIRED
SoFborins oRERe

The name of the first Nuclear Reactor built
with indigenous technology :

(1) APSARA (2) MENAKA

(3) KAMINI (4) ROHINI

;1.56’% FoT0H :m%z-‘.boﬁ‘ Sairth dun sl
W 6@&*551}5:

(1) e (2) by
(3) sradd (4) 5‘::-..@57\
First Nuclear Test under the code name

'Smiling Buddha' was conducted in Rajasthan in
the year:

'?_\_JEEJQE e’ ud 5 D08 s e DO
u‘ﬁe‘st‘:" =BAS Dobdydo

(1) 1968 # (2) 1974

(3) 1982 (@) 1995

11

59.

MVIIO 1o Ldllcld g LIS faliich At jiidiall eidtaeal
Programme ?

{1} A.P.). Abdul Kalam {2} Vikram Sarabhai
(3) Homil. Bhabha (4) U.R.Rao
r88ad e SIS Lerimdm  JROD
Lo ?

_/{ﬂ Q02 a%nﬁ gur0 (2) Do Frorgrad
3

FDE e (4) abheb o

The Nuclear Power Plant that was started in
2002 with Russian Collaboration and
inaugurated by Indian Prime Minister and
Russian President in July 2016 is located in .

(1)

Tarapur, Maharashtra

(2) #%udankulam, Tamil Nadu
(3} Balsapur, Odisha
(4) Jaisalmer, Rajasthan

Sy WirstGo8 2002¢° e WY =T
20166° 88 (Do ook Sirg 34 edghdd
2783 woldo Tabwdd wwif Sdard o
4 aod ?

(1) a‘cr';'.;\]'-ﬁ, 'in.".':‘ﬂ“"$ 2) SdodHeo, S¥ari
(3) weryrb, el (4) g&‘aﬁ, o ads

Where is the plant that prepares Heavy Water
used in Nuclear Reactors located in Telangana ?

{1F Nalgonda {2} Nirmal

(3) Mahbubnagar  (4) Manuguru

v BobrES” adairiod  yrdmerd)
SatrHTD oty Buomnd® I8 aod ?

(1) ot (2) WS

(3) DbewrSHIE (P Dwird

The name of the first satellite launched by
India in 1975 from USSR using Cosmos launch
vehicle :

(1) Bhaskara {2) Varahamihira
(3) Rohini (4) Aryabhatta
grd8dio 1975¢° G0 orgor Sdrg Wod
B Ehe*s [LatrhoDb €y 85 adifiro Do
(1 iy (2) Soriried
E (8) wiges

Series-AB
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Programme ?
{1) Homi J. Bhabha
(3) Vikram Sarabhai
Prdd wosdE SEgED DehGm JHOD
Deoedh ?
(1) D2 wrer

(3) Do Jrorgraw
<

e w

idiall spakic

(2) Dr.AS.Rao

(2) a6 2.0 o

(4) D2 wgd gero

The name of the indigenous Light Combat
Aircraft built by HAL is

(1) GARUDA (2) SURYA

(3) AKASH {4} TEJAS

3% WBgrnod HAL &rdrobBold dO¥ae
dincg hrho L
(1) H&%E

(3) wsh

(2) tardg
(8) deb

Using a rocket engine made through
indigenous technology, ISRO placed 2211 kg
INSAT-3DR satellite in orbit in September 2016.
The name of the engine is

(1) HYDROGENIC (2) CRYOGENIC

{3) PYROGENIC {4) AEROGENIC
N3/ IroTBE Logrho oo Satrdh dNd
oS8 acas argor 2211 3¢ riwe 289 He
INSAT-3DR  &|fis%) =@ wwowd 2016¢°
S55¢°8 (135 Yod. w mowd Db

(1 &35 (2) Ear=2E

(3) w&'EE (4) D&%E0E

The supersonic cruise missile produced with
collaboration of Russia is named by combining
names of rivers in India and Russia. The name
of the missile is :

(1) BRAHMASTRA (2) BRAHMANDA

{3) BRAHMOS (4) BRAHMOSTAVA
da::'g Wirs do8 dSoprdh Juh DS A0S
(Erovsd ELcdE 88, g Ewec®d ok
e ‘i:-g: =13 e o

(1) (@5%:n (2) @&Hod
B @0 (4) s

(4) A.P.J. Abdul Kalam .

C 12

66.

&67.

68.

wiho s ithe woman of indian origin that
established a record of spending 195 days on a
space shuttle launched by NASA in 2006 ?

(1) KalpanaChawla (2) Sunita Williams
{3) Neerja Bhanat (4) Vinita Kaur

2006 Dodéyod® o [DarRodd wodd¥
FES® 195 Bareo KAD 8575 2o DS rE8ab
PoB3E Jo8h Hdr¢

(1) Sy oo
B} 2w erIFE

R ‘e DOabSy
(4) Ve 6

HIB vécctne_ was prepared by Serum Institute of
India. Where is it located ?

{1) Chennai {2) Bengaluru

(3) Mumbai {4) Pune

HIB avg8)S % Do a.&g@sé’i‘ a0 xoddfe
dafrd Foob. ©8 K4 aod ?

(1) E@l (2) DoHErsd
{3) l’ano?‘_ {4) rd
The Council for Scientific and Industrial

Research {CSIR} recently launched an
Ayurvedic Drug by name BGR-34. it is designed
to control

(1) Blood Pressure  (2) Cancer

(3) Diabetes (4) Thyroid

€ Dfp stuod® NG D5 PodLE wok
acd?g)cﬁx:'-' 8058) MM wb) D20b634

- HE &8 eahdes Zrugray w4 od. ad

20 dabo@ipos ?
(1) &% P
(3¢ dabaad

(2) sgns
(4) Forawd

Though officially not recognised at first, Subash
Mukhopadhyaya created India's first and
world's second Test Tube baby on 3" October,
1978. What is the name of the baby ?

(1) Durga (2) Indira

(3) Maya (4) Lakshmi

dndd w8588 hBoy oE¥Pavar, Ynerd

togftdrgrgab 3 wE'wb, 19784 ersSdiYy

DS wba Doy Todd BY g HOD

Voo, o SO D
(1) &8
(3) Srad

ﬁ 2088
(4) agq
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several fields. These are named revelutions.

Match the following revolutions with
corresponding field : )

Revolution Area / Field
a. Silver Revolution 1. Oil Seeds

production

b. Yellow Revolution 2. Fisheries
c. Blue Revolution 3. Potato production
d. Round Revolution 4. Egg production

Q'Sﬁcéjgo i domgd godalr 0%
Somud® Dedaires B0D08. B JpseaT
ShEdmo dmd & S0 Jbsruw a8

Lowods Sorud udddtod.

Jade peSHordorio
a, Bod o —, /1 23 ddmru ad)E
b Ladp iy Dadp! 2. duibyg Dol
c. OO Do womerthode adya
d. tho|%e dDo : ri:dﬂ aéys
Codes/E%%en

(1) a3,b2cld4 (2) a2b3,c1d4
(3) a4,b-3,c24d1 wa/a'-d, b-1, ¢-2,d-3

The following table lists the names of missiles
with indigenous technology along with their

objectives. Match each missile with its
objective.
Missile Objective
a. Pruthvi-1 1. Surface to Surface
b. Akash 2. Ocean to Earth or Earth to
Ocean
c. Agni-3 3, Ocean to Surface
d. Dhanush 4. Surface to Air

808 L3S Lgdt odBEEE SobrbTickudd
Shemen, 8 eFgu pod. 8088 oD

w2208 UFEV) z=dhddod.
Socd . ufge

a. Dyde-1 . girdoo ok ifrde o

b. as*R 2. WwEo wwod rduo dor
grdeo wod WanBo

c. oy -3 3. Lhpo wod rdem08

d. gl 4. girdeo ol A8

Codes/E%x0

(1) a-1,b-2, ¢-3, d-4
(3) a-2,b-4,c3,d1

(2) a-1,b-3,c4,d-2
(a) a-3,b1,c2d4

13

72,

73.

74.

75.

(1) Nizamabad (2) Kanmnagar
(3) Medak (4) Adilabad
wdHI>ib 2ol #d}&_ aw) 2g°

(1) Derarerd (2) %bobnb
(3, 28 (4) wborwrd

The most extensive soil cover of Telangana
state

{1) Alluvial soil (2) Black soil

(3) Red soil (4} Marshy soil
Beuom oryed’ wdgod JySom &y Sven
(1) zoibbgdec  (2) 0808 dues
{3), IS Foes (4) D& Jers

Ssummits of Western Ghats are covered with

(1) Mountain soils (2) Laterite soils
{3) Forestsoils {4) Red soils
Loy Shibe Ayoren & 55y )L

snbouud GToN.
(1) DegbodL)Bser (2 TOTE w)Be
(3) weddyB¥er  (4) B WIS

Kanniyakumari is located

(1) North of Tropic of Cancer
(2) South of the Equator

{3) South of the Capricorn
(4) North of the Equator
Sirg L D% 84 anb ? .

(1) Somyo¥ des adlor

(2) gvisg Fwt Sfmorr
Dt Sod Simorr

(4) iy Sws addor

Which of the following two districts are not
covered by Pranahita - Chevella lift irrigation
scheme ?

(1) Khammam - Mahbubnagar

{2) Mahbubnagar - Medak

(3} Nalgonda - Rangareddy

(4) Khammam - Karimnagar

& 808 TS 2 TGoth 2o (@reird - 33#;,

- QBB VLo SolH ovw) ?

(1) sapo- Sovrerdd B0
(2) Soirerrd Db - el
(3) “&'ed- Sorros

W wRRO - ghohisd

Series-AB
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78.

79,

80.

The Hydel Power Project with the highest
installed capacity in Telangana :

(1) Srisailam Left Bank(2) Nagarjuna Sagar
(3) Sriram Sagar {4) -lJurala Project
Boomese wdgod 2o Des 5-:'35550 Hes
B

(1) L@Eooad&ﬁ%» (2)e ooreds 346
(3) {Rovo >H6 4) zroe >2E

Which of the following rivers is the tributary of
the Cauvery river ?

(1) Hemavathi {2) Shimsha

{3) Amaravathi (4) Indra

&1 80b et D8 38 28 ¥y aind ?
(1) rhba (2) Roi
(3) whvoras - (4) =0

According to the 2011 Census data, the most
literate state after Kerala is

(1) Lakshadweep {2) Goa

(3) Delhi (4) Tripura

20115 =aer S%He Psido 8¢ avipo
$07g8 wdgdE wEowed 1BoTd ovipe 6 ?
(1) “*5&55 (2) Fa v

(3) &b (4) (Bips

Recently the Union Government has decided
to merge Railway budget with General Budget
with effect from 2017-18. It will end the old
tradition of presenting separate budgets which
was followed for

adde Sold (habdse o wESY e,
2388 285 2017-2018% wondyo Wwod =8
w38 @ ErProbodrud Dgcmc Dod. ad fd oy

oD AT DD AroarairdS hofod) ?

92 years/fo.ocen (2) 94 years/Dooren

(3) 97 years/bo.omen (4) 98 years/Do.cren

Nick name of the Jamaican sprinter Usain Bolt
who created an unprecedented record in Rio
Olympics 2016 is

{1) Thunder Bolt {2) Lightning Bolt

(3} Hurricane of Africa(4) Golden Bolt
2016 B&r neodE \84¢” SwoBkydr THY
35 IUEONR farsth oS 5 ooy
NEIDH 8 ?

(1) Sodb &'S
(3] e@se b3S

(2) @8N ¢

{4‘}/’@5 &8¢

Series-AB
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81.

82.

83,

Which of the following States became the First
Statein India to launch DNA Index System {DIS)
for DNA profiling of criminals ?

{1) Bihar {2) Andhra Pradesh
(3) Chandigarh (4) Telangana
rE&diod™ 2 orygo SSipe DNA LpO¥
SR Ingande [HFF s ?

{1y DS (2) wo Dd5

(3) odind {4)

SLoMe

India has successfully test-fired the surface to
air missile Barak-8 recently. This missile has
been developed in collaboration with

(1) Iran (2)
(3) UsSA {4) Russia

adbe rd8ddo w058 ol ¢Loduo wod
wsfod’s (Larfod Z0aD DmabSodom

Israel

| LbBoDob. AN D d4 rsedos' drdroBom ?

(1) @S C @)
(3) USAw (4)

-.taLarvmx‘f

diﬂg

Legendary Boxer Muhammad Ali, considered
as the greatest of all time passed away
recently. He was a national of

(1} South Africa (2} uUsA

{3} India (4} Pakistan
Ehodod™ wdgdh wribm W odd
5:;’;‘2:)3'5 ud aifhe Ldoord wakd I dF
w@oﬁx’b ?

(1) &8 uHse
(3) zrdd d40

(2) cwdBd
(4) , 1EPS

Who is the recently elected Prime Minister of
Nepal ?

(1) Girija Prasad Koirala

(2) Pushpakumar Dahal Prachanda
(3) Baburam Bhattarai

{(4) K.P.Sharma Oli

atdbe IS DordboBm INY swsh Sd
Jhih ?

(1) Ader (LS S*ovorer
[}}*‘ Qe B&rb S DiSods
(3) zrurcd Perordd

(4) 3 i L9
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93.

94.
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A. Governance B. Envyronment €. Manoeuvre

(1) A&Bonly (2) Aonly
(3) A&Conlys {4) B&Conly

what is the meaning of the idiom ‘burn the
midnight oil’ ?

(1) Extracting oil during night from oil wells
{2) Using kerosene for lighting the lamps

(3) To study or work until late night

(4) Stealing something during nighp~"

wWhich of the following is the nearest meaning
of the word ‘IMMINENT" ?

(1) Intermediary

(2) 'mmediately

{31 Being important for a long time

(4) Likely to happen very soon

Identify the word that is not close to the
meaning of ‘LETHARGY".

{1}~ Vivacious (2}
{3) Weariness (4)

Inactivity
Lassitude

Fill the blanks in the following sentence with
appropriate articles.

ngé European Union has passed

irrev

cable bill during emergency session.
(1) A aan {2) An,an,an
(3,7 The, an, an {4) The,a a

Identify the grammatically incorrect sentence.
(1) The earth moves around the sun.

(2) The earth is moving arcund the sun.

{3) The earth move around the sun.

(4} The earth has been moving around the sun.

identify the grammatically incorrect sentence.
(1) 1 haven’t seen Prasad this week.

(2) Ididn't see Prasad last week.

(3) 1am not seeing Prasad this week.

(4) 1hadn’t seen Prasad this week.

| should not get up early tomorrow, ?
{1} Shouldl (2) Mayl ]
{3) Could] (4) Shouldnt| ¢

identify the grammatically correct sentence.

(1) We are going to watch ‘Kshanam’ movie
on coming Friday.

(2) They went to Medaram by walk.

“(3) 1 have been waiting at the bus stop since
>

two hours,
{4) |drank tea just now.

identify the grammatically incorrect sentence.

(1) Read novels is my hobby.

(2) Walking on the grass is prohibited.

(3) One must have keen observation for
drawing a cartoon. _

{4y 1 cannot go on doing nothing.

identify the pair in which the verb and its past
form are not correctly matched.

(1) Catch-Caught  (2).#Choose - Chose
(3) Bring—Brought (4] Throw — Throwed

97.

100.

101.

102.

103.

104.

NCYY ST Gl dinn vty Ly 1L 1 S0
(1) has, out— (2)  will, out
(3) has, up (4) has,in
The story revolves Shiva and Deepa who
are not interested _____ getting married.
{1) around, for (2) about,in
{3]{ ~ahout, for (4) around,in

New Zealand cricketer Martin Crowe passed
away ___ fighting 2 long battle ____cancer.
(1) with, about {2) after, with

{3) after, dueto {4) for, with

A study carried by the All India Institute
of Medical Sciences pegs the number of neo-
natal deaths 58,000 in 2013,

{1) out,at {2} in, about

(3) about, nearly (4) regarding, at

If 1 you, | would have grabbed the
opportunity.

(1) am (2) are

{3) were (4) being
Directions : Read the following sentence/fo

find out whether there is any grammatical
error in it or not, The errar, if any is in one part
of the sentence. The number of that part is the
answer. If there is no error, the answer is (4),
i.e. 'No Error'. (lgnore the errors of
punctuation, if any).

Never | have listened (1) / to such beautiful
music as the piece we heard (2) / in the
concert last night. (3) / No error (4)

(1) 3 {2y 1

(3) 4 {4 2

Directions : Look at the underlined part of the
sentence. Below the sentence there are three
possible substitutions for the underlined part.
if one of them is better than the underlined
part, indicate your response against the
corresponding number, If none of the
substitutions improves the sentence, indicate
“No improvement” as your response.

Mallesh's father wrote to him, "It is high time
you start preparing for the forthcoming public
service commission’s examination.”

(1) have started {2) tostart

(3) started (4) Noimprovement

Select the sentence that is grammatically correct.
(1) | have to usually reach the office by 9.30.
(2) Usually | have to reach the office by 9.30.
(3)}1 have to reach the office by 9,30 usually.
(4) 1 usually have to reach the office by 9.30.
Shakespeare, (afan) __ ™ writer, entertained
audiences by writing many tragic and comic plays.
{1) numeric” (2) obstinate
{3) dutiful {4) prolific

Series-AB
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given. After the series a number (25) is given arranged by following a particular logic. Study
followed by (A), {8), (C), (D} and (E). You have the numbers given in the table and find out
to complete the series starting with the given what should come in the place of guestion
number following the sequence of original mark (?) :
series and answer the question. (Bod 2EE &7 Vomges w¥ :"éw amon.
10, 15, 30, 75, 225, 7875 S8 LBRDoD, Gmmgs () oot D _\‘?
25, (A}, (B}, (C), ({D), (E) Vomgen byadr L8 0d. ¢
Which of the fi ing i
ch of the following is not correct ? : 3k W /

& E.’)’llc‘a“ 2.4 howb LAL agwubod. & boud

P7

"

dothes wgrdh af ﬁsaﬁﬁ ahbde mdD
JFSorbrn, wof® HgBTY 4N0de wdH eding)y
Sorti, HADS 5gATE aBde 8D duo SofiS | 109, Which letter will occupy the 100" position in

oord. aopdh & povd) 64 Lhd 1 d the following series ?

o) SOA aF) Dyt B AN OF) AABABCABCDABCDEABCDEF
o D Sottr doddh ?

(14 Lo g

5h
Q1" 14 28 84
200 B wRNB 208" Lowb LED (25), (A), :ﬂ,"ﬁ;”
(B), (C), (D) ZoBats (E) wigeizod. 29 ,;' S TR, k ,\@%’
r
10, 15, ''30, 75, 225, 7875 iﬁ 6| ? ? ! /ﬁ/
25, (A), (B), (G, (D) (E) ( 168, 3@' 504 (2) 56,112,168 M(PS
& (308 SUS* A8 WG 5 ? {3) S6,112,336 (4) 56, 102, 204
- (1) E=1869.75 =«
V (2} A=375 108. Three of the following four are alike in a certain
C s (3) D=5625 way and so form a group. Which one does not
S _
g . (4) C=187.5 belong to the group ?
VW : _ Sky, Fire, Wind, Water i
106. A waooden cube of side 4 em has been painted (1) Fire (2) water
with different colours. The two . opposite 3) sk  Wind
surfaces are painted red, the other two ¥ @ .
opposite surfaces are painted with green and (808 Trehode” hurdh .8 Uhurdror AT oD,
the remaining two opposite surfaces are & ORarTS 30850 08 ?
painted with blue. Now the cube is cut into 64 '
equal cubes of side 1 cm. How many small us i, my. o, % '.
cubes will not have any colour ? (1) m;)i' (2) -:)d: l\
4 b Jromye) EDA Ak w8 Fabg (D8 20
(3], us i (@) m® \
I
|

..........

(Bod 283 &° 1005 Fdod” 2 w¥¥o &pod ?

F s AABABGABCDABCDEABCREE ... ... £
{2] 8 - 2 6 A
3) 12 o s ’T‘ M (2)
{4) Cannot be determinedmgmﬁm (3) p (4) Q .
Serles-AB : 16 g S
4P
P R
- ‘L’ - 5’
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110. In a particular code language FIFUALITRLA 15

written as ‘EQUGCOWBQYX, then how

'HANAMKONDA' is written m that ¥an?§ a!gw'ek ja,t

Laow It?.ri"? "t

X €6 ooi® FT nAm'ﬂcx* hf,guscowaqx g
e [y ! Tyt
FC ) ;ANAMI(DNDA I - g:-‘;;é" o

] @
§‘% J‘t‘.}oﬁ‘ﬂa?

= ‘/w/ GYPIGFRIMA

© (2) GYBIOZCIMA
(3) BOBIOIZCMN

{4) BOBIOHACMN

111. If the diameter of each circle is 20 cm, then
what is the area of the square ?:
£ S)E08 agho 20 D 4o, IBdpo
Jod Frurgd) $OA dod ?
a0

Ql:‘-l

'\\

(1) 640sg.cm
{2) mn1600sg.cm

(3) 6400 sq. cm - 1t 1600 sq. cm

/41/6’400 $q.cm

112, What should come in place of question mark (?)

mgE Frbod® DD iipod ?

(899 + 1111 x 11-2120) + 11 =107 + 100

(1) 100000 {2) 3
B & A 5
201 \\\ 4 ©
hitps://wwi 1'{' o ~
LS )

— s U"R B..mr’.'i—'b:

uoh

-L

o
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statements. You have to decide whether the
information provided in the statements (A & B)
is sufficient to answer the quesﬁon. Read both
the statements carefully and then decide the
answer.

in a row of five children P, Q, R, Sand T, who is

‘standing in the middle ?

A Sisto the immediate right of Tand Qis to '
the immediate left of T.

B. Qisto the extreme left of the row.
(1) Only Ais sufficient.
{2} Only B is sufficient.
{3) Both A and B together are sufficient.
{4) Neither A nor B is sufficient.
a8 [h) woak o [Lfbdes aaman. adye
BhHS WTs VErerard) orubdod e at g
EGhuR bBodod. &l arfidm S0
Vargrardy Afavodiod.
2.8 HEHE* b by P, Q, R, Sh&oﬁT
aamy . bxed’ Joth aahh ?
A, T8 %E [0S 3003 S ey woak T S
Mg, 3063 Q dam).
B, HELS® Mo BlgDHsh Q k.
(1) A& 00*&0d.
(2) B &r(@d wedrdel.
/-!T‘ A & B Bodr eS8,
(4) A, B Bodr 203,

114. If‘A>B>C=D <E > F' is true, then which of
the following conclusions is definitely true ?

'A>B>E=D5E>F'ﬁé@§.&@oﬁ#£$‘

28 pipson Léghargd ?
/gu"ﬁ A (2) F=D
{(3) D>A (4 A>F
' = Series-AB
——4 t—
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A CUbe Is having the numbers from 1 to &, one
on each of its surface. 1 is having 5 and 3 as
adjacent numbers. 5 is having 1, 2 and 4 as
adjacent numbers. 6 is having 2, 1, 3 and 4 as
adjacent numbers. 3 is having 1 and 4 as
adjacent numbers. Then identify the wrong
pair of numbers on opposite surfaces.

28 arnd w oo 1 od 6 HWH
Fomes o8 w08 TV asman 1 8 S
wogh 3 PE» gaman. 581, 2, oo 4
(5S> samon 6 8 2, 1, 3 HOa 4 6D
Gomyaw. 3 8 1 bab 4 D aamaw (Bob
TEE" D8 $38T8 g wd 57 ?

(1} 1&4 (2)
{3) 5&6 (4)

38&2
2&1

2

In a certain code language "PNT" means " You s
are Smart", "QPT" means " You'look smart",

and "PYQ" means "l look smart". Which of the
following is the code for “Smart” ?

28 £ =0 &F "PNT" e “You are Smart"

"QPT" e "You look smart”, x8dfis "PYQ"
o smart", & ([Bod a8t
"Smart” & rdod 56 08 7

(1) N {2) v
(a), g~~~

Gy T
Directions : In the following question, there

look

exists a relationship between the number
inside the circle and the numbers outside. Find-
out the number that should come in place of
",

e | S E?%lé" ii.}éoé'ﬁ ﬁ]ﬁli}omﬁﬁ (M)
W av) wosSud ¥ DowoGo aod. ME
(N Qﬂ‘;‘go@‘ D 808 Bpod ?

(3 3

4
e

1i8.

i

L

N [
2|\

b
@ {4

119,

-

Directions : Six families {Shah, Verma, Mishra,
Krishnan, lyengar & Patel) stay on six different
floors (1% to 6") of 3 multi-storeyed building.
Read the following information carefully and
answer the question.

(A) Iyengar stays on 3 floor, just above
Verma.

(B} Shah & Mishra are at extreme ends,

{C) There is a gap of one floor between Shah
& Krishnan.

On which of the following floors does Patel

stay 7

(1) 6" 2y 5*

(3) 4" 4 27

ardtes 1 oo wirod wodhre Fbbod® wud

Ldpoeren (&, ‘.‘.:5&. aDEr, Sy, wdbgorrd

oo VS wdH I2E wodzd® (1 wod 6)

oD a8 K8 2878 wodpd® Jlxamd

(508 adgads SRt e S8 (DhS

URrGraT) aieod.

(A) wdbgorrl Stwowo 3 D wode’, b4
Hinoer I8 VD a5,

[Ef.ll & 2obal D Hivoerw sol08am (8ol
570 Tor wodsdEam W 5° aamyan.

(C) & SBab KHsSe g wods’ 208y
Gy,

LB Hivowo 2 ©o80E* dab?

(1) 65 (2) s& cor
59

{3) 4&/7” (4) 28

Directions : In a certain code language (A)

“M + N” means "M is father of N"; (B) "M - N"
means "M is mother of N”; (C} "M + N" means
"M is brother of N" and (D) "M x N“ means
"M is sister of N”. Then, which of the following
represents "M is the paternal uncle of N" ?

bne ol 56 it (A) "M + N" obm "M,
N £ £03"; (B) "M - N" &dm "M, N & 0"
(C) "M + N wdm "M, N & 355" Hock
(D) "M x N" &Hm "M, N & 758" eoand,
"M, N £ Damdyadasd) " e ddrbods 28 ?

MzQ+N {(2) M+Q=+N

(3) M=Q-N {4) MxQ-=-N
PNy = i 201
o1~ Hfou Lo

:‘E;, Lol
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Ledhes B l‘_&:’ilr.‘;" Soth ([w¥bdeo
(Statements) w0ch  Jrewid abres
. (Conclusions) agGrow. o (PELRL

two statements followed by four conclusions.
You have to take the two given statements to
be tn;e, even if they seem to be at variance
from commonly known facts and then decide
which of the given conclusion/conclusions
logically follow/follows from the two given
statements, disregarding commonly known
facts.
statements : (A) All lions are dogs.

(B) Some dogs are tigers.
Conclusions : (1) Some lions are tigers.

{Il) Some dogs are lions.

{lll) No lion is a tiger.

{Iv) All dogs are lions.
{1) Only (1) and {1} follow.
(2) Only (1) and (IV) follow.
(3) Only (1) and either (1) or (11} follow.
{4} All follow.

Th Dor dbf:aﬁé s (b¥bem P8
Dzorr ek & Nfdre [REGL egrdom
woah s udom Jabwdds' Hlosod. §
PEeder: (A) 8d) Vodtw HE .
(B) £ HHeo ;;QEJ@ //-—

() £y boies feven.
() & HHeo Dol ~
() 2 Nodro Era PO s~
(IV) oy 25 e nodfen
(1) Dabo (1) obaky (11) & | S3D.

DFcbo (1) wda (IV) (8D,
(3} agaﬁo{u}mmma‘w (1) (S,
{4) &) dfdreo

"
ﬁgm : ;

N

Three of the following four are alike in a
certain way and so form a group. Which is the
one that does not belong to that group ?

(8o Freofods® Tl 2% J;::s'a’:-'%m Ao,
ﬂ‘ F. i

ugﬁp{g‘a \";.t'u 14
@ Zan’™ A 2]) MPS &
(3) Svx 5 Lo
V2 ruillﬂ'
e Pl . [} N !"' 19
g £ l

https://wwn
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123.

Qureshi, Rajdn, 20T 4Nl Uit alt otditd
around a circular table. Read the information
below and answer the question that follows:

(A) Prakash & Rajan are not sitting opposne
to each other.

(8) Qureshi & Sunil are not sitting opposite to
each other.

(C) Sunil is to the left of Prakash.
(D) Qureshi is to the right of Rajan.

{E) Omkar & Shroff are sitting opposite to
each other.

(F) One person is sitting between Omkar and
Qureshi.

Who among the following is sitting opposite
Prakash ?

(1) Shroff {2) Qureshi
(3) Rajan (4) Sunil
Lmdbes @ tosth, (sl %CL orme. (5,

DS oF sibd: rdw 28 ByestE Hawes
hdyr E.Pﬁ'mﬁa. Sod rdhun  er(fidm
56D thngrad) sigod
{A) iL-nJE‘ol bak c.“a.S 2508 oM
aog'é-ﬁ: g,
(B) %d% SBak S 2508 oD 208ED
#ﬁ g6
' (0), st & 2 B S s
(D }c.ﬂazﬁ S 56 Fy HTQ aIb.
LoSE, D 0 XBBEHT ErE YT,
(F) ~ E;&I;E'E_, &8 & ﬁc‘,ﬁg w88 aany.
(570 % X AR)D Jath ?

{1} @-5 (2) %du ~
(3) o= . (4) YodS
Study the following number series and find out

how many numbers can be accommodated in
the series if the series begins with 111 and
ends at 201.

111, 114, 117, 120, coereeiiieens 201.
(808 alyd dowb MOD D 56%0od0h. 111 &
(rBogid 201 & wodinddy & w85 & do
A NoggLs aolran ?

LB
111,114, b i i J0 . RO e 201.
1) 307 "7 @) 3 5
. T R
3) 32 4 (493 L3
" Series-AB
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which number will represent strong advocates

only ?

ity D)dos%hr, ©&eShN . |Bsbzo8hr,
2Dy SHERE™ 0 O “owg weornr

6) wdeSoi hrEd ripos ?

(1) 3
(3) s

125. Asha

o

2
AV
3
6
5
,ff‘ff} 4
(4) 6
remembers that her sister Nisha's

birthday is after nineteenth but before twenty-
second of April, whereas her father remembers
that. Nisha's birthday is after twentieth but
before twenty-fourth of April. On which day of
April does Nisha's birthday fall ?
0 80 Iy DS P Fes® 19
Shard, 22 % fvoh el e 0. 5= wr
Soid8 2 IS B JPabS It 20
S&ard, 24 H fwoH ©d 1w D DS e

Do Fet Ddas ?
{1) 20" (2) 23
3 21" (43 22™

126. In the following sequence of alphabets, which
letter would be tenth to the left of the letter

which is fifteenth from the right ?
ABCDEFGHIJKLMNOPQRSTUVWXYZ

(508 adyd ulore WELBES® H& Wod 15 S
BEOTIE D S 6 10 5 w¥o D82

ABCDEFGHIUKLMNOPQRSTUVWXYZ

) B
(3 ¥

(2} U
(4) v

a
43
; 4‘1‘7
7

X
127.  In a span of 24 hours, how many times would
the two hands (Hour and Minute) of a clock

point exactly in opposite directions ?

¥ AddirSod® 24 Kobe Labost AN
fobe awes w8afy AIres ‘é:..'ug: 28008
255 Hg8TE 84S* aotran ?

1) 21
(3) 24

Series-AB

(2)/%2
(4) 23

https://wwn
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following question :

Sales of 'X' brand jeans by different stores in
2015 : ’

Total number of items sold = 42000

What was the average number of sales by
stores A, B, Cand F together?

(Bos adyd  wfv Lo4O0D BhH®
}".éar-qra‘:)l 'ﬁsod.

2015¢° X' (ero& &5y 2048 s est sinsTes
QT R dawd “opg = 42000

A, B, C tobas F thsrorees® DoviBm SRNFHD

2 ?
o
b2
fﬁ“
2
(1) 8820 0
(2) 8520 W \"9;*1»‘\
(3) 7820 T

129. Meena walks 25 metres westwards. She then
turns to her left and walks 20 metres and then
turns to her right and walks 10 metres. She
again turns to her right and walk 20 metres,

What is the distance walked by her and in
which direction is she facing now ?

{1) 65metres, East
q"[é (2) 75 metres, North
},—- (3) 75 metres, South
W' (4) 65 metres, West
e Do VDS B 25 Hoth HED0b. v SHars
gy 8% JELTH B0A 20 Hed HADA. o
p SErd &5 LAFS 80n 10 HedH $8008.
b 85 98 S 300 20 Hew A0,
o I oG HEDos WOk DHET o
B SrbA ? %/9”/_
(1) 65 Dtodh, ity e ok
(2) 75 Dordh, d&S0
—=d3) 75268, S8mo
T8 65 bud, e

s

e

[}V‘fénnnt be determined/d8abo sl -
w 4o A Jp}.;l,ﬂ




130.

131.

The Harappa people had. their maritime
contacts with :

(1) Samarkhand {2) Srilanka

(3) Mesopotamia (4) Malaya

iy e Uhpiorodl8 argard Domogres
oA ﬁ‘bl'o‘?io

(1) mﬁaﬁ (2) |ReoB

() BB (4) Ded

Taxila, the famous educational centre in
ancient India is presently located in
(1) Bihar, India
{2] Rawalpindi, Pakistan
(3) uttar Pradesh, India
{4] Kathmandu, Nepal
@96 roddiodt RS dargSodorr
Je05 SERe o I8 a0l ?
5555, modatr

2) oD od, FEXS
A =

132,

133.

P

201

htps://ww,

(3) adsE% acdar
(4) wrenodd, Adrd

Mirja Ghalib, a famous Urdu and Persian poet
was a contemporary of

{1) Bahadur Shah Zafar

{2) Awurangazeb

(3) Jahangir

(4) Akbar

(B¢ agr whak HBALS £ wah g MmO
J508 s D% ?

(1) wirdrs 26 (2) ZTdorEd

[E) airohb (4)# 8536

Which one of the following song was not
associated with the Telangana poet Guda
Anjaiah who died on 21% June, 2016 ?

(1) 8hadram Koduko Jara Pailam Koduko

{2) Vuru Manadira, Palle Manadira

{3) Ayyoniva Nuvvu Ammoniva

(4) VeerularaVandanam

2016, =n5 215 Lddowd Beorrom Si U
wondbg® Dowogo T 28 7?

(1) &0 T8’ a8 Davwo EHE

(2) &t Ao, VT Ao

{3) 96..‘?3;);:' :»*{))3 uaulﬁa‘

e o Dodho

134.

135.

13s.

7[3)&’3-3,!1—4,::-1*{1-2 (4)

The Delhi Sultan who construcied canals to the
Yamuna and Sutlej rivers for irrigation purpose
was

(1) titutmish _

{2} Firoz Shah Tughlaq
{3) Balban

{4) Muhammad Bin Tughlag

bgbdrairdd Wiy AWD wolod o
b, VBE HhuH STewdu BoTd §H
DR ol ? '
(1) =adwd
(3) zreys

(2) 96 & 18

{4) Eﬁa&-é:lé S s
Who happened to be a poet as well as a

musician during the period of Delhi Sultanate ?

(1) Alberuni (2) Ibnbatuta

(3) Barani (4) Amir Khusro
d."sﬁ YTy srwod® £, LoAds Ham ﬁ#al

“g8
(1) ua‘aﬁrﬂl
(3) aoeR

{2) -.'eula:-éraw
(4) LRI
Match the personalities given in the List -A

with the movements that they have been
associated with, which are given in List-B.

List—A List-B
a. Kanneganti 1. Quit India
Hanumanthu Movement

b. C. Rajagopalachari 2. Boycott of Simon

Commission

c. Aruna Asaf Ali 3. Palnadu Forest

Satyagraha
d. Tanguturi Prakasham 4. Civil Disobedience
Movement
wde - A & al)d HgHew wrdes - B &F
anye ﬁc‘Ss&'wu&‘ eddtdod.
arbor - A arfor-B
a. EJ)ifod raod . 8e&5 0datr
{ GSgo
b. b oaRdrerod A 2. S SaS
wdrip S
c. wder oLD ubd L Doy ob)
W ergidro
d. dotbard s o ﬁ rﬁga%ﬁgﬁm

Codes/8" %y
(1} a-2,b-1,c4d-3 (2) a-4b-2,c3d-1
a-1,b-3,c-2,d-4

Series-AB
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iditil Lhne jiems given in List-A with those
given in List-B.

List- A List—-B
a. Members of Legislature gained 1. 1909 Act
the right of discussing about
budget and questioning on
administrative matters.
b. Religious groups interests 2.1919 Act
were given excessive
importance.
¢. Established dual government 3.1935 Act
in the states.
d. Established dual government 4. Indian
at the Centre. Councils
Act, 1892
Sod erler - A & alyd o) e -8 &F
am), U8 wdddSod.
arlier - A e~De"-B
a. 238 W 38)otokhd, 1. 1909 S$S&o
aru ahoirei !
E:J’Eloﬁnﬁiél T
o ', d : &
vebge ey aﬁsa} u-f&/,
b. e ‘égpo [paramrued 2. 1919 dg}m
THED (Frerngd wigwbod,,”
c. orgryg® deode (Lebdo / . 3. 1935 S0
Qomyén Sabadod. '
d. SoBod* dgods [Lebdico - 4. Y
Jomyin dabedosd. T
S0 1892
Codes/E%%e
(1) a-1,b-3,c-4,d-2 (2) a-2,b3,c¢1,d-4
PV'a-d,b— 1,c-2,d-3 {4) a-3,b-4,c-1,d-2
138. For the propagation of armed rebellion,
‘Vandemataram' paper was started by:
(1) Obaidulla
(2) Lala Hardayal
(3) Veerendranath Chattopadhyaya
(4) Madam Cama
aroivel Bhiberdudy pﬁ‘@‘.;{_nv o RarorE
Dodtrddo ol HB%H (FdoDodod
(1) epder
[2) eren bt
(3) 5‘6’0@@5 ﬁg‘é'q:'su:i:
(4} rdo sihr
Serles-AB

22

139.

140,

141,

142,

143.

All India Harijan Society was started by
(1) Babu Jagjivan Ram

(2) Dr.B.R. Ambedkar

(3) M.K. Gandhi

{4) Jyotiba Phule

wde erdd rdzs o (rEofoDod
(1) zre 2005 o=h

(2) @8 o8 wod)b «

{3) o3rrod

{4) é"gﬁuﬂ Yre

In ancient period the northern Telangana
District, Nizamabad was included in which

Maha Janapath ?

(1) Anga {2) Kuru

(3) Asmaka (4) Panchala

(% sreodt add 8comrn | rodos™:
Jemdrard 2o bk eShEod o ?

{1) =al (2) &%

(3) w8 {4) rowre

The first State in India which provided welfare
measures such as pension, housing and food
grains to transgenders

(1) Kerala (2) Tamil Nadu

(3) Odisha (4) Manipur

[&°S) Bod8H WHS, dydr HO8, Bo& Nomes
$ot3 Dogh (Harares $0y005 Anse oUgno
(1) So (2) SDF>dy—.
(3) edar (4) 2expb

"India versus Pakistan: Why can't we jl..lsl be
friend" is a book written by

(1} M.J. Akbar (2) Akhil Sharma

(3) Khushwant Singh (4) Husain Haggani
“acddlr B3N EPE: 3 s7off Hob 29 D
@Ol ¥ SiSowd Jath 7 '

(1) oo.Z efyb {2) ul_)é'?itig

{3) Eixod Mok~ (4) oS rgrd

The Muslim festival Eid-ul-Azha is known as

(1) Ramzan
(2) Moharram
(3) Bakrid

(4) Prophet Muhammed's Birthday
wyos SiS.aduar Do D beodrd ?

(1) oS

(2) e

(3) w5

(8) direns B8E aidbo,”

2m
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47.

01

(1) a place where grains are separated from
hay.
(2) aplace where the grain is stored.
(3) aplace where water is stored.
{4) a Grassland.
; bs‘é;b:g‘fo Vhvedst ‘EGFJO‘ Tl
Yy A& wed q*a‘galédnﬁ'b ‘-;;r..-o
(2) grargdn Dwd sod Qoo
(3) o482 Qe aod “.é;uo
(4) & 2brad

‘Naropa', the festival of Buddhist Culture and
Traditions is celebrated in the state of

(1) Gujarat
(2) Odisha
(3) Jammu & Kashmir
{4) Maharashtra
a.mgé WO, ofordire Dotk HEIT &

208 D‘a‘jmﬂ’ 808 Jothéod ?
(1) Hezocéd (2) aéa
(3) =y, 5‘%;5 (4) oy iy

Who is the author of the book, 'Nela, Nagal,
Mudeddulu' ?

(1) Suddala Hanmanthu

{2) . Varavara Rao

{3) Bojja Tarakam

(4) Kaloji Narayana Rao

“Se, S0, rddhes” DS Sdand Jok ?

(1) f\acg'ca arwods, (2) wdad o°D)
(3) &z o880 (8) &2 srorchn oV

WHQ, recently certified that India is free from

Yaws, a Maternal and Neonatal Tetanus.,Yaws

is caused by which of the following ? »50
N

(1) Bacteria {2) Fungi
{3) Virus (4) Protozoa
danirDd & weg z_:l“iﬁéﬂa‘:};_ “ g,
SrddE  DBdh Jabarod B dardorm
LtoDol. & 308 &S dD by “abd”
/0B ?

(1) wrggdotr 2
{3) S

wofl |
(@) @&/

https:/iww

149.

150.

weavers of Gongadi ?

(1) Yadavas (2) Padmashalis
(3) Kurmas (4) Meras

& 808 Herud® Ioh Forié & ?

(1) abrdpes (2) :{x&g_ﬁ‘&m
(3) Sfes / @) Heo

Consider the following statements regarding
the "Pradhan Mantri Jan Aushadhi Yojana
(PMIAY)" :

a. "Pradhan Mantri Jan Aushadhi Yojana
{PMIAY)" launched in 2008, envisages key
initiative of opening of dedicated outlets
of generic medicine.

b. One of the major objectives of
Government of India is to ensure
availability of quality medicines at
affordable prices for all, especially for the
poor and the disadvantaged.

c. Recently, 437 Pradhan Mantri Jan
Aushadhi Kendras spread over 26 States /
UTs were made operational acrpss -the
country. ma

" Rero(@ n 270 D (LJoBIZ) B

bowoBod 6 Bod argwgLin LOROEIY :

a. 2008¢° |F8ofold & DEo, =IO
Doche ToHoLD |r8ofomrel
Dapod.

b. ardd (Dgbds |(Dorh widbo e,
wolrd borodh SEnd GBS" TreagS
Qo voddEdbdo.

c & ‘a‘-:x_ﬁgs"waﬁ" 26 ovdreeySolrdd
Proerd® 437 |[Dorwbod ®b TN0
dojareia (rEchonob.

Which of the following statement(s) is/are
correct ?

Wh Lo Tgmgadt DB/JD o ?

(1) aonly/arEd {2) a&b

(3) a&ec a,b&c

The 'Mesram' clan is found among which ene
of the following tribes ?

(1) Koyas (2) Chenchus

(3) Gonds {4) Kondareddis

S 808 &0 ‘o' B D waTh
thrirodt ot ? T

(1) &abes
(3) . Afodoen

{2) Dohen
A%) ok Bth

Series-AB




	img3001.jpg
	img3002.jpg
	img3003.jpg
	img3004.jpg
	img3005.jpg
	img3006.jpg
	img3007.jpg
	img3008.jpg
	img3009.jpg
	img3010.jpg
	img3011.jpg
	img3012.jpg
	img3013.jpg
	img3014.jpg
	img3015.jpg
	img3016.jpg
	img3017.jpg
	img3018.jpg
	img3019.jpg
	img3020.jpg
	img3021.jpg

